&:(2000) AFSIJHEH 2+ (2400) FEH LKA N Bt (2410) €4 - RN Mg (2412) = Al 2H2] HIMIE : (210) B EAFY NEIECEES
Of &b of l @ o = p) x
I 2 S MIE. NIMIE =2 O]l &b oM = 3 o
2000 [=2 685,536 &= A1,196,293 X 0]
ISP EIRE] 47,855,397 48,366, 154 A510,757 [2t 0 Jl 0 0]
2400 [= 685,536 &= A1,196,293 X 0]
ZREHQI T AFS| O | 47,855,397 48,366, 154 A510,757 [2F 0 Il 0 0]
2410 [=2 685,536 &= A1,196,293 X 0]
SR 47,855,397 48,366, 154 A510,757 [ 0 Il 0 0]
2412 [=2 685,536 = 0 X 0]
ZEHT Al 242 16,156,557 15,471,021 685,536 [2F 0 I 0 0]
200 [=2 685,536 & 0 X 0]
AHSS Ol A 16,111,807 15,426,271 685,536 [ 0 Il 0 0]
210 [=2 685,536 = 0 X 0]
BXAY 8,330,236 7,644,700 685,536 [2F 0 I 0 0]
403
XSS 8,330,236 7,644,700 685,536
o™
8,330,236 7,644,700 685,536 |01 KX X2 =
oHTZE =& HAALY (8IHXIT)
1,371,072,0009 x 50% 685,536
685,536
2414
NE=p\pII=T, 27,860 1,224,153  A1,196,293
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ZH:(2000) AFSIHEHH] 21 (2400) FEHL XISALSI NS BF:(2410)FE - XN HIBE: (2414) &1 £ Al HIHIEE: (220) X & ALY EBIEERE
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
200
AFS Ol AF 0 1,196,293| 1,196,293
220
Kb AFE 0 1,196,293| A 1,196,293
401
A&l L2 0 1,196,293| A 1,196,293
CHH|
0 1,188,537| ~1,188,537|01 Al&H]
SOFMAIT Al AT AIA AAISH (1EHH) = A241,056
COIMAIZ Al BZLHEIAIE AASH (1E2HH)
= NA947 481
0 7,756 AT7,756|03 Al& =2 OHY|
OOHMAIE Al AT AL &AL H = A1,749
SOHMAIZ Al StEZSLHEIAIL AAILH = AB,007
A =& & A 47,855,397 48,366, 154 A510,757
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